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Swiwzhfwpwpwywl wfuwwnwbplbp
pGdwhwppwyh pwlnnid
Qnnip)nil nLbtignn dEnwnwywb funnnywybbph L waynLbwybbph wwwnplwénid b 0,24
lwdpwpwptinnGb hhipbiph pwlnnid §° 9,60
Qn). nLGkignn pwnpb wwwnbiph pwannid 5 1,344
G/p uwbiph wwwdnbGunwdnld hwn 2,00
3nnwihl wluwwnwbplbip
Swpwdéph hhdGwwnwyh pGwhnnh dwynid 0,2503 tnwpnnnipjwdp tpuywywnnpny, pwpbwiny
Wi nnhGpaLIBUIA 10003 3,54
Qnjnipyntl nLtignn wudpwinptinnnbjw Swéyh pwlnnid 15000 10013 0,49
3-nn wngh pGwhnnh dwyncd 0.40 03 tnwpnnnipjwip Epuywywwnnpny Ynnihgp 10013 0,330
Ouwntiph ttiptlwjwgdwdé hwlntd wnpdwwnbbpny b tbnwtnfuncd dhGsl 100 O hwn 18,00
GhG wiuph nbnwthnfunid 6 Yo n 584,6
QnjnipjnLl nLGbgnn Ggpwpwpbph pwlnnid 1000 2,157
Udwaquynwdwyihb hhdph wrnignid 40 ud hwuwnntp. 10007 4,680
5.Uhqudwpq
Swpwéph Gwfuwwwwnpwuwinned uhquiwngh hwdwn pipdwé plwhnnhg 15ul 2tpnh 10062 24 338
wybjwgniiny L Owjuwwwwnpwuwnniing gwlph hwiwp ’
Swpwdéph wwwpwuwnnid uhquiwpgh 1001° 6,35
hwiwp wnwpwéph hwppbignid
Uhqwiwpgh gwlnid wybjwglbny plGwhnn 1000° 24,33
3nnh htinghgp hwwnwyGbph twy dtinpny u3 23,01
GhEdwhwppwy
PGwhnnh wnthwlnid fudny 10ud 10042 10,31
Swwnwyh ptitinGt 26pnh Yuenignid wlgndbbpnid b mwpwdpnid fush ypw 10000 hwuwn. o 103,1
B - 12,5 nwuh ptinnnGhg Gwfuwtpwnh Yunnignid 3 11.36
Ggpwwwwnh wywpwaqgény 35%15*21650ud ’
Ywipowybtph L wjwqwbh ywwnwwnwyh Gpiuwwwwnned 3000 pwquint uwtpny 12 125,4
Udwquwbh npuh wywunh GpGuwwwwnnid 3000 pwquiint uwitipny 45ud pwpdpnipjwip u2 79,6
Pwquunt Ggpwpwptiph wmbGnwnpnid 100*200 £15 nwuh pGwnnGyw hhdph ypw 1000 0,524
Pwquiwnt uwihyGtphg hwwnwyh wwinpwuwnned igpwhwlywé 300*300*40040 u2 3827,3
Pninwpbinnlb dwwwyblw)hb hhdptiph ywwpwuwnnud B-12,5 nwuh ptininGhg Ggpwpwnh tnwy
0.4*0,45 u3 69,04
Pwquwnt Ggpwpwnbph mbnwnpnid 130*300 R7,5 nwuh ptitinGjw hhdph ypw 1000 3,836
LGwapowybkph Ywrnignid
3-nn Ywpgh pGwhnnh Gowynid dtnpny YuwipowyGtph hhdpbph hwdwp u3 26,40
G/p dhwdnty hhdptiph wnenigned B - 20 pbiwinnGhg 5 26,40
Udpwh ®14 U500c nG 0,696
Udpwh ®12 U500c nG 0,406
Uhwdnyy b/p YuwdppwyGbph Yurnignd B - 20 pkiwinnGhg §° 10,67
Udpwh ®18 U500c nG 3,16
Udpwh ®12 U500c nG 0,035
LGwapowlybtph Gwnwwpkp
Ubinwnwywb Swnwywph nbGnwnpnid pwn, funnnjwuyhg 60*6004 i 0,604
Mnnwwuwnjw ntnnuwbyyncl funnnquy 20*40%12 ) 144,00
Mnnwuwuwnt phptin Ywlqlbwybbph twy 2464 12 5,20
Ubinwnwywb wnwptph Gplyuwy 100 o2 0,800
JjnLnubGpyncd
Owntiph wnGynLd
Ouwnbtiph pGGph thnpntd 10 thnu 6,2
Ouwntiph wmayned 0,5%0,4 U thnuh vkp 10 dwn 6,2
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npuywqubh Gnpngnld
Spwywqubh Ggpuwwntip 6000 pwquwint dwélwuwtph wwwdnbunwdnLd pwnbiphg g/wjwaqb 2
1000 1,220
whuwnh dwpnpniiny
Spwywquwbh wwinbiphg uwihyGbph pwlnnid 1000 3,712
Pninwpbinnlbb dwwwyblw)hb Ggpuwwnh wwwnpwuwnnid B-12,5 nwuh i3 3478
ptitnn0hg30*55*21082ull ’
Pwquwnt fuany, thnzhny L jwyny fuwnrbnipnhg hhdGwwnwyh ywwnpwuwnnid opuduqubh wrbw 5 232 00
hwuwnwyh ypw ’
Spwywqubh hwwnwyh L wwwnbiph dshwtipn hhnpnibyniuwgnid hgnqwdny phinudh dwéhyh 100 &2 6.18
Ynuw i
B-7,5 nwuh ptinnnGhg Owhuwwwwnpwunwywlb 2tpnh Juenigned gpwdwqubh hwwnwyh nwy 3 57 2
10ud ’
wwnwlh phwnnGt 26pnh Guenignid hhnpnidkn 100 &* 5,72
W 4 B 15 (U 200) ptitnnGny 7000 hwuun.
Pwquwiwnhg hwpp phdtiph Ywrnignid /150*300/ qu 189,42
Muwwnbiph nidtinugnid wipwbwjhb gubgny
0,08*0,9%197,6 a3 16,89
Unp 6000 pwquwint dwéwuwibiph tnbnwnpnid welw wwwnbph ypw Bpd=40d 10x20ud 1002 0.4400
wipwlwihG gubgh wipwlwynpniind/ ppwywqubh Ggpuwwn / ’
UwwinGunwdywd 6000 pwquiint Swélwuw)tinh nbnwnpnid wew wwuinbiph L dhelwuwwinbph 1008 04800
Upw Bpd=404 10x20ut wipwbwjhb guwlgh wipwbwynpnudny / opwywaqubh Ggpuwwn / ’
Muwuwnbph L hwwnwyh ujunnid g/wjwquihb Qwnuwfuny 10042 7,58
Muwwnbph L hwwnwyh hbnpnobyniuwgnid /MUSEN USNT/ Gynpny §? 780,00
Uwppiwl wfuwwnwGpGhp
GhG.wnph hwywpntd L nnepu pbipned G 75.00
tnwpwaéphg
GhG.wnph pwpdnid hGplwp. tpuljwywn. 10005° 0,041
Stnwthnfuntd 544 il 75,00
Upwwphl 9pwiwwnwlwpwpned
tupwdninnt thnpned dGfuwbhqind 3-pn Ywpgh 10000° 0,015
tupwdninnt thnpnud dGfuwbhqinyd 5-pn Ywpgh 10005° 0,064
PGwhnnh hbwnhgp dbfuwGhqiny 10004° 0,046
tuGw)hG 2tipnh pwlnnid §° 1,5
Pniuwhnnh 2tipnh pwlnned dtinpny wwhwwlned 5 320
L yGpwlywGqglniy ’
Mnihtph GOwihG funnndwyh nkin. d=900d d 436,00
8 0pl thnpdwpynd
Udwah Guiuwtipnh uenignid 6° 18,0
Qnunh whgnd  90/2500 wnihtphith hwn 110,0
Qnunh whgnd  90/3200 wnihtphith hwwn 25,0
uayynLbwl 25/25 wnihtphba hwwn 110,0
Sppnn hhnpwlwnh dnpwy hwun 25,0
QuwywGtph Ygnpnhsny d=32 ad hwn 25,0
Quwywbbtph wnbGnwnpnid  d=20 0a hwn 110,0
UnnOwlwyhb thwlwbh nbnwnpnid d=80d4 hwn 3,0
Muwnpnipwluwyhb Ygnpnhs dn 32 dd hwn 25,0
Snwgwjinhs nbnwnpnid d=2500 hwn 110,0
funnnyuwuwwnncy D=32 dd hwn 25,0
Ugwnippwjhl dhwgnipjntt  d=800d hwn 8,0
Mnnuwwnb funnnwyh inbnwnpnud d =3204 a 12,50
Snuwswithh nGnwnpnid d=40 du hwn 1,0
Mndwh wagpbigun hwwn 1,0
Mndwh nbnwnpnid Q=9,003/d hwwn 1,0
Mnnwuwuwnb funnnjwyh nbnwnpnud d =2500 a 55,00
SGwnwnwpd thwywb d=50 vd hwn 1,0
Qwunwnyowl hwywb d=32 dd hwn 1,0
£ GYwnpwywb jniuwynpnipnch
Lncuwdnpnipjw b dniinpwihlG JuwhwGwyh gwjnbwlpwithwg IP 65 tnwpptpwyh dninpwjhh hn 10
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NEYwywpiwb wpyn wpnwphb (ncuwdnpnepjwb hwiwp hp Gipwrdwé
w, Untnpwjhl wynndwwn380 4 32 U hun 1,0
p, Gwqlhuwywh ptinwnyhs
Swnnpnwiwn, wnGdb shnnd, dEYntuwgdwé, pwdwbhs hhdpnd hwndwépp 1004 0.79
5x3,5 U2 Ud4q ’
Swnnpnwiwp, wynGdt ohnnd, dEYntuwgywéd, pwdwbhs hhipny hwwndwépp 5x2,5 162 MMY 1004 0,18
Swnnpnwiwp, wynGdb ghnnd, dEyntuwgywéd, pwdwbhs hpdpny hwndwdpp 5x10 162 MMY 1000 8,65
Swnnpnwiwp, wynGdt ohnnd, dEyntuwgywéd, pwdwbhs hhipny hwwndwépp 5x1,5 02 44q 1000 0,13
Owjnwlwy wyntihbb ©25 dd hwn 1
Owjnpwlwy wyntihbGb ©35 dd hwn 1
Uwqbhuwywb pnnwpyhs -4 1,00
Upwwph jruwynpnipjw@ pnruwnnilbph wnbnwinpnid 73
Onunpwybtph thnpned hGGwuntGEph tnwy u3 8,18
8,18
lwdpwpwpbtinnbGhg hhdptph wwwnpwuwnnid hGGwuyntGtph hwdwnp 13 -
UGnwnwuwuwnt funnnwyh nkin. d =20040 M32 1000 0,12
UGnmwnwuwuwnt funnnwyh nkin. d =4004 M32 1000 2,48
UGnwnwuwuwnt funnnwyh nkin. d =5004 M32 1000 0,20
UGnwnwuwwuwnt funnnwyh ntin. d =11044 M32 1000 0,20
Upwwphl 9pwiwwnwlwpwpned
3nnwjhl wluwwnwbplbip
3-nn Ywpgh pGwhnnh dwynid Epulwywwnnpnd, Ynnihgp 100u3 0,30
3-pn wpgh pGwhnnh dtinpny thnpnid fupwdnennid a3 5,00
tunnnjwlwzwph twyh Gwfu. 26npn10 ud hwuwnnipjwip wwaghg u3 2,50
flunnndwywwph 6wdyntd wywagh 2tipinny u3 6,00
tupwdnwnnt htinghgp atinpny I uwpgh gpnilun u3 5,50
3-nn wpgh pGwhnnh htwnhgp pnignngtipny 108 inGnwthnfuniinyg 10003 0,21
udtinpn plwhnnh pwpdénid hGplGwpwihhb Epuywdwwninpny 10004° 0,0085
Stnwthnfuntd 5 Yo il 15,3
UnGuwdw)hG wluwwnwGpGbip
Mnnuwwwnt tGYunpwbnwygdnn funnnywlybtiph wbnwnpnid fupwdninninned
_ ql 25,00
d=57x400
Ygwnipph inGnwnpnid d=500d hwn 4,00
UnnGwlwynp pniot thwlwbh inbGnwnpnid d=5004 hwn 2,00
SwywhpntGhwyhb gfupyh mbnwnpnid d=5000 hwn 1,00
Uhwgntd gnpénn 9pwqédhl hwiwwwwnwufuwb fuwdninny 146w 1,00
Spwiwwnwwpwniwb nunnubyynil nhinwhnph pGnnbjw wwnbiph LW hwnwyh Yurnignid u3 1,30
Spwiwwnwwpwpiwb nunnubyynil nhinwhnph pneet dinngny G/p Yuthwphsh inGnwnpnid hwwn 1,00
Swlgh thnpdwpynid 1000 0,25
funnndwytiph (wgnid Juwpwywgbipéniiny 10004 0,025
Uudwnwuwinnrd
Owdyh hpwlwlwgnid 3 ud  hwuwnnipjwip dwlpwhwwnhy wud./phiinnbt fuwrbnipnhg 1002 0,322
Owdyh 2tpnh hpwywlwgnid 5 ud hwuwnnip.funznpwhwwinhly w/p fuwnbnipnhg 10007 0,322
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